Chapter 6, Scenario

1.
Harry, an administrator, has asked Jerry, his assistant, to outline a way to organize and create more usable space on the current Windows NT Server’s hard drive. Jerry observes that a volume set already exists on the partition, and he proposes to extend it by using available free space. Doing this could make usable another critical 100 MB. Proudly, Jerry takes his idea to Harry, who tells him that he has overlooked one important factor and that his proposal would not work. What important factor has Jerry not considered?

a.
The partition has been formatted as FAT.

b.
The partition has been formatted as NTFS.

c.
The current volume set is composed of the maximum three sets of free space.

d.
Once a volume set has been created, it cannot be extended.

e.
Even though Jerry is an administrator, he does not have the right to manipulate volume sets. That right goes to the Disk Administrator by system default.

a. (page 221)

Chapter 6, Lesson 1

1.
Carol has created an extended partition on her hard disk. She now wants to format the partition so she can call it her drive F and use it for data. She has searched the Windows NT 4.0 Disk Administrator tool and cannot accomplish the format. Which of the following could explain this situation or solve the problem?

a.
She needs to go to My Computer and format the partition there.

b.
Her rights do not allow her to format the partition.

c.
She has not indicated if this extended partition is to be FAT or NTFS.

d.
She needs to create logical drives and format them.

e.
She already has the maximum of four extended partitions on the drive.

d. (page 206)

2.
Karl has a variety of hard disks installed in his Windows NT 4.0 computer. Each of these has some free space available. Karl heard that the space can be combined into a volume set. Which of the following types of hard disk would you tell him might be used? Choose all answers that are correct. 

a.
IDE.

b.
SCSI.

c.
RLL.

d.
ESDI.

e.
CDFS.

a, b, and d. (page 208)

3.
Which of the following accurately describes a volume set?

a.
It can be created by combining from 2 to 32 areas of unformatted free space.

b.
The space must be on two or more physical devices.

c.
The space used on each physical device must of be the same size.

d.
a and b.

e.
a, b, and c.

a. (page 208)

4.
Which of the following is true for data striping? Choose all answers that are correct.

a.
It requires at least two physical hard drives.

b.
It improves read response time.

c.
It increases fault tolerance.

d.
It requires three hard drives.

e.
It can be accomplished using two partitions on the same hard drive.

a and b. (pages 210-11)

5.
Which of the following statements about the system and boot partitions for Windows NT Workstation is true? Choose all answers that are correct. 

a.
The system partition can be part of a volume set.

b.
The system partition cannot be part of a volume set.

c.
The boot partition can be part of a volume set.

d.
The boot partition cannot be part of a volume set.

b and d. (page 209)

6.
Volume sets and stripe sets require that the areas on the disks be approximately the same size to equally distribute the data. (True or False?)

False. (page 211) Only stripe sets require that the areas to be combined be approximately the same size.

7.
One variable to consider when adding a hard disk to a computer is the physical configuration of the computer, for example, the number of slots or bays available. (True or False?)

True. (page 212)

8.
There can be no more than one extended partition on a hard drive in a Windows NT system. (True or False?)

True. (page 206)

9.
A __________ set is a partition formed by collecting from 2 to 32 areas of unformatted free space on one or more hard disks.

Volume. (page 208)

10.
Barry needs to add hard drives to existing computers and configure those presently installed for more storage. The Windows NT utility that he would use is the Disk _____________ program.

Administrator. (page 212)

Chapter 6, Lesson 2

1.
You are using two hard disks in your Windows NT computer. The primary partition (1) and a logical partition (2) are on Disk 0. Disk 1 has 150 MB of free space and logical partitions 3 and 4. All logical partitions are part of an extended partition. You decide to convert the 150 MB of free space to another primary partition. Which of the following would be the result of this decision?

a.
This would not work. Extended partitions can have only one primary partition.

b.
Because it is the first primary partition on Disk 1, it will be numbered 3. The previous 3 becomes 4, and the previous 4 becomes 5.

c.
The new primary partition is numbered 2 and the logical partitions are numbered sequentially.

d.
The new 150-MB primary partition will be merged with the other primary partition (1) and the space will be combined.

e.
Because it is the first primary partition on Disk 1, it will be numbered 1. The previous 3 becomes 2, and the previous 4 becomes 3.

c. (page 226)

2.
Sharon installed Windows NT Server on a computer containing two hard drives with a 500-MB partition C, which is a FAT partition and the system partition. She used the rest of the first hard disk for partition D, which is formatted as an NTFS partition and is the boot partition. She has run out of space on partition C and wants to extend the partition to the free space on the second drive. How can she accomplish this?

a.
She can use Disk Administrator to extend the FAT partition.

b.
Using Disk Administrator, she can convert partition C to NTFS and then extend the volume onto the second drive.

c.
She can convert partition C to NTFS using the convert command and then use Disk Administrator to extend the volume.

d.
She can convert partition C to FAT using the convert command and then combine partitions C and D.

e.
What she wants to do is impossible.

e. (page 221)

3.
After creating or extending a volume set and restarting the computer, it is essential to format the new area(s) with Disk Administrator. (True or False?)

False. (page 221) The volume set will be formatted automatically after restarting the computer.

4.
Disk Administrator can be used to create, format, extend, and delete stripe sets. (True or False?)

False. (page 224) Stripe sets cannot be extended.

5.
Partitions can be formatted with FAT or NTFS using Disk Administrator. (True or False?)

True. (page 216)

6.
Windows NT uses a file named _______ to find the boot partition. This might need to be manually edited if extended partitions are renumbered.

Boot.ini. (page 227)

7.
In Disk Administrator, the Secure System Partition command is present only on ______ computers.

RISC-based. (page 229)

Chapter 6, Lesson 3

1.
Jane is troubleshooting her computer. She wants to know the hardware devices that have been detected. In which of the following should she look?

a.
In the registry, under HKEY_LOCAL_MACHINE\HARDWARE.

b.
In Control Panel, under Add/Remove Hardware.

c.
In the root folder, for Ntdetect.txt.

d.
In the root folder, for Ntconfig.txt.

e.
In Control Panel, under System Manager.

a. (page 231)

2.
Karen is concerned about using various utilities for disk maintenance. She knows that some utilities do not know how to handle LFNs. Which of the following would you recommend that she use?

a.
DiskMaster version 6.2.

b.
SCANDISK, DEFRAG, and CHKDSK for MS-DOS version 5.0 and above.

c.
Windows 95 disk utilities.

d.
IBM Storage Utility.

e.
None of the above. She must use only the utilities that come with Windows NT.

c. (page 231)

3.
If Windows NT does not recognize a hard disk, there probably is an incompatibility problem. (True or False?)

True. (page 231)

4.
You are experiencing problems with a small number of corrupt or damaged files and folders. The best thing to do is to remove the problem files or folders and restore from the backup. (True or False?)

True. (page 231)

5.
The utility to update repair information and create an Emergency Repair Disk sometime after installation is _______.

Rdisk. (page 230)

6.
If Windows NT cannot access all the space on a 1-GB IDE hard disk, the problem is due to a BIOS limit of _________ cylinders, not an operating system limit.

